RE4 Component list for test assembly in Mar. 2011
	Items 
	Components 
	 Production site or

CERN catalog SCEM number
	Amount for one chamber

/six chambers 
	status
	Comment

	Detector components

	1
	Gas-gaps
	Produced in Korea
	3/18
	ok
	In ISR

	2 
	honeycomb box
	Produced in China
	1/6
	ok
	In ISR

	3 
	Readout strip
	Produced in China
	1/6
	ok
	In ISR

	4 
	Copper + mylar sheets 
	Produced in China
	3/18
	ok
	In ISR

	5 
	Screen box
	Produced in China
	1/6
	ok
	In ISR

	6 
	Gas-gaps fixation L-brackets 
	 Produced at CERN workshop
	4/24
	16 missing
	See Jean-Paul (Luc’s drawings:
l-r2(3)-left-bottom.pdf,
l-r2(3)-left-top.pdf,

l-r2(3)-right-bottom.pdf,

l-r2(3)-right-top.pdf)

	7 
	Plexiglass Gas-gaps spacers (with holes)
	  Produced at CERN workshop
	3/18
	12 missing
	See Jean-Paul (Luc’s drawings:

plexi-r2(3)-bottom.pdf,

plexi-r2(3)-mid.pdf,

plexi-r2(3)-top.pdf)

	8 
	 Patch panels
	Produced at CERN workshop
	2/12
	10 missing
	See Jean-Paul (Luc’s drawings:
l-profile-r4-ring2(3).pdf
l-profile-small-ring2(3).pdf
Note: HV connector holding slot should be modified to 3-pin connector)

	9 
	 insulation mylar between HCP and gas gaps 
	Produced at ISR
	2/12
	10 missing
	 (Luc’s drawings:

mylar1-r2(3).pdf,

mylar5-r2(3).pdf)
 (see item 18)

	10 
	gas outlet block pipes 
	Produced at ISR
	4/24
	ok
	In ISR 

(Yong’s drawings in

“RE4_gaspipe-design.ppt”)

	11 
	Gas pipe (between gaps and from gap to patch panel)
	Produced at ISR
	6/36
	24 missing
	 (Yong’s drawings in

“RE4_gaspipe-design.ppt”) 
(see item 15)

	12 
	Cooling + FEB holding unit
	Produced at CERN workshop
	1/6
	6 missing
	See Jean-Pau(Luc’s drawings:
piping-cooling-ring2(3).pdf,
piping-cooling-ring2(3)-rep.pdf
bend-pipe-r2(3).pdf,

cu-pipe8-r2(3).pdf,

cu-plate-big-ring2(3).pdf,

cu-plate-small-ring2(3).pdf
piper2(3)-elb.pdf)

	Mechanical accessories

	13 
	Legris ferrule unions and accessories
	41.34.31.656.8
41.34.35.406.8

41.34.35.120.9
	4/24
4/24

4/24
	ok
	For gas pipe 

	14
	Legris bulkhead unions
	41.34.06.510.0
	4/24
	ok
	For gas pipe (On patch pane)l

	15
	Ф6 Plastic gas pipe
	
	4m/24m
	ok
	In ISR

	16
	Legris ferrule unions and accessories
	41.34.31.658.6?

41.34.35.408.6?

41.34.35.123.6?
	2/12?
	
	For cooling pipe

	17
	Legris bulkhead unions
	41.34.06.513.7?
	2/12
	?
	For cooling pipe (on patch panel)

	18
	Mylar sheets
	44.84.50.390.0
	175μm thick,1232mm wide
	ok
	In ISR

	19
	M6×12 screws  
	47.62.70.742.8
	~70/210 (RE4/2)
~80/240 (RE4/3)
	ok
	Assembled in honeycomb box

	20
	M6 washer
	47.78.12.060.6
	20/120
	ok
	In ISR

	21
	M5×6 screws  
	47.62.71.200.9
	30/180
	?
	Used inside chamber or on panel surface (Hexagon socket head cap screws) 

	22
	M5 washer
	47.78.12.050.8
	20/120
	ok
	In ISR

	23 
	M3×16 screws
	47.62.32.316.4
	12/72
	?
	Fix 40 pin plug on patch panel

	24 
	M3 nuts
	47.41.65.030.8
	12/72
	?
	Fix 40 pin plug on patch panel

	25 
	M3 washer
	47.78.12.030.2 
	12/72
	
	Fix 40 pin plug on patch panel

	26
	M3×4 screws
	
	12/72
	
	Fix FEB to copper plate

	27 
	M3×8 plastic screws
	
	12/72
	?
	Fix FEB to copper plate

	28
	Ф3.2×3mm plastic washers
	
	12/72
	
	For FEB?

	Electronics components

	29 
	FEBs 
	Made in Italy
	3/18
	18 missing
	Order?

	30 
	FEB insulation mylars
	Produced at ISR
	3/18
	18 missing
	Put between FE board and copper supporting plate, produced in ISR

	31 
	distribution board 
	Made in Italy
	1/6
	6 missing
	Order?

	32
	3 pin HV connector
	Made in Italy
	1/6
	ok
	In ISR

	33
	STYCAST glue 2651-40

/CATALYST 23LV
	company?
	
	
	To make HV connector (ratio: 100:18)

	34 
	Copper screen braids for HV and ground wires
	04.01.31.006.7
	~5m/30m
	ok
	In ISR

	35 
	Heat shrinkable  tube 
	04.86.62.110.3 (d3mm)

04.86.62.110.5 (d5mm)
	~1m/6m
	?
	order

	36 
	ground wires 
	
	~2m/12m
	ok
	In ISR (4 ground connections to the same spot outside chamber in RE1 assembly: 1.from copper sheet, 2. From distribution board 0V, 3. From HV cable screen braids, 4. From HV connector ground 

	37
	Signal flat cable with two connectors
	Produced at ISR
	6/36
	missing
	See item 41,42,43,44,45

	38
	FEB LV cable with 4 connectors
	Produced at ISR
	1/6
	missing
	See item 40,46,47

	39
	Adopter soldered with 16 co-ax wires with ferrules mounted  
	Produced at ISR?
	6/36
	missing
	See item 48,49,50

	40
	26 pin twisted pair flat cable
	04.21.22.426.8 
	~2m/12m
	no
	For LV power

	41
	40 pin twisted pair flat cable
	04.21.22.440.0
	~10m/60m
	no
	For FEB signal

	42 
	40 pin socket flat cable connector
	09.55.03.340.4
	6/36
	no
	 FEB end

	43
	40 pin socket flat cable connector
	09.55.03.440.1
	6/36
	no
	Anti-traction loop for female cable socket (FEB end)

	44 
	40 pin plug flat cable connector
	09.55.04.540.4
	6/36
	no
	Male cable plug with securing feet (patch panel end)

	45
	40 pin plug flat cable connector
	09.55.04.740.8
	6/36
	no
	Anti-traction loop (patch panel end)

	46
	26 pin socket flat cable connector
	09.55.03.326.2?
	4/24
	no
	Connecting FEBs

	47
	26 pin socket flat cable connector
	09.55.03.426.9?
	4/24
	no
	Anti-traction loop for female cable socket (Connecting FEBs)

	48
	Coax cable
	04.61.11.110.6?
	~80m/480m
	no
	Coax cable C-50-1-2 50 Ohm ACI

	49
	Adapter board
	From company?
	6/36
	no
	See Ian

	50 
	ferrules 
	From company?
	96/576
	no
	See Ian

	Tooling and consuming materials

	51 
	6 soldering protection strips 
	 Made in ISR
	for all chambers
	missing 5
	 Copper glued to thick mylar strips

	52
	Pipe heat bending tools
	Made by Jean-Paul
	
	ok
	In ISR

	53
	Loctite 245 glue (blue)
	37.30.35.074.3?
	
	
	Fix gas unions on patch panel

	54
	Soldering tin
	29.20.01.362.9?
	
	
	Tin-lead-silver wire of welding for electronics

	55
	Conductive copper tape
	04.95.20.112.8
	
	
	Seal copper ground (not needed if using solder)

	56
	Conductive Aluminum tape
	04.95.20.150.9
	
	
	Seal screen box

	57
	Plastic insulation tape
	04.94.20.213.0

04.94.20.225.6
	
	
	Cover slots in honeycomb panel, L fixation brackets, HV slots etc.

	58
	Paper tape
	04.95.45.225.0

04.95.45.251.8
	
	
	Low adhesive

	59
	Cleaning paper
	55.60.82.150.2
	
	ok
	In ISR

	60
	Cleaning solution
	?
	
	
	

	
	
	
	
	
	


